
4/05 Note:Whenordering,ALWAYSspecifyPart#,Model#,Serial#,Voltage/Phase&typeofGas. Page 1 of4

CBBQ-30S/60S
Outdoor Gas CharBroiler

PARTS LIST

Serial Number

30PineStreet•NewRochelle•NewYork•10801

914/576-0200
914/576-0605

1 -800 -431 -2745
www.bakerspride.com

fax
US&Canada
webaddress

BAKERS
PRIDE

CBBQ-30S

CBBQ-60S

ModelNumber: TypeofGas: Natural

L.P.

Other

Dante
SERIES



30PineStreet•NewRochelle•NewYork•10801

914/576-0200
914/576-0605

1 -800 -431 -2745
www.bakerspride.com

fax
US&Canada
webaddress

BAKERS
PRIDE

Figure A Exterior / Interior

Page 2 of 4 4/05Note:Whenordering,ALWAYSspecifyPart#,Model#,Serial#,Voltage/Phase&typeofGas.

CBBQ-30S/60S
OutdoorGasChar Broiler

1

3
4

8

14

17
16

15

21
22
23

29
28

37

2

18

30

36

38
46
47

12

13
20

19

31

35

43
42
41

10
9

11

3940

4445
25

26
27

24

33
32

5
6

7

34



4/05 Note:Whenordering,ALWAYSspecifyPart#,Model#,Serial#,Voltage/Phase&typeofGas. Page 3 o f 4

Exterior / InteriorFigure A

Item

Item Part # Description Item Part# Description

Figure B

Figure B

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

48
49
50
51
52

BAKERS
PRIDE

9822F4
98DWP200
98DC200F
98200H4

98DC200H

G6013K
T1237A
S1316U
Q2041A
U1345A
U1346A
U1044A
Q1043A
G6062T
G6063T
S1351A
S1349A
Q5001A
T1241U
G6033T
G6025T
G6056T
G6037K
G6038K
G6039K
G6057K
G6020K
G6033T
G6021K

Part#

30PineStreet•New Rochelle•NewYork•10801

914/576-0200
914/576-0605

1-800-431-2745
www.bakerspride.com

fax
US&Canada
webaddress

Radiant
Grate,24"
DoorHandleKit,10"
Screw, 1/4-20x1/2
WarningLabel
LightingInstructions
NamePlate,BPLogo,8"
NamePlate,BPLogo,131/4"
StandAssy,30"
StandAssy,60"
Leg,15"S/S(each)
Casterw/Lock
AllenWrench,5/32
GriddlePlateAssy,11"
HoodAssy,(CBBQ30)
HoodAssy,(CBBQ60)
HoodAssy,1/2Size(CBBQ60)
SideShelf,12"
ShelfSupport,Left
ShelfSupport,Right
Windshield,1/2size(CBBQ60)
Windshield,60"(CBBQ60)
Windshield,30"(CBBQ30)
WorkDeck,S/S,8"(CBBQ30)

Description

Pan,S/S4DeepFood, FullS ize
Pan,S/S45/8DeepWater, FullSize
Cover,45/8Deep,DomePan, FullSize
Pan,S/S4DeepFood, 1/2S i ze
Cover,45/8Deep,DomePan, 1/2Size

Accessories

Accessories
Item

CBBQ-30S/60S
OutdoorGas Char Broiler

25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47

53

*54
*55

56

98US3030
98US3060

G6017K
G6021U
G6017U
T1240A
T1239A
G6043U
R1137A
G6045T
G6044T
R1139A
Q2009A
G6029K
G6030K
G6042K
G6022K
G6019K
Q2046A
Q2043A
Q3005A

G6074K
G6041K

T5104V

T1244U
CBQOPT17
CBQOPT18
G6034U

Par t#

WorkDeck,S/S,8"(CBBQ60)
WorkDeck,S/S,Richlite(CBBQ30)
WorkDeck,S/S,Richlite(CBBQ60)
Richlite Deck(CBBQ30)
Richlite Deck(CBBQ60)
TankSideBracketAssy,20#
Cylinder,20#, LP
TankCaddyAssy,Single40#
TankCaddyAssy,Double40#
Cylinder,40#, LP
Thumb Screw, 1/4-20
Outer Side,Right,S/S
Outer Side,Left,S/S
Outer Back,S/S,30"
Front P anel,30"
Front P anel,60"
Nut,1/4-20
Screw, 1/4-20 x 1/2
Washer,Split-Lock,1/4
Undershelf(CBBQ30)
Undershelf(CBBQ60)
RearShelf(CBBQ-30)
RearShelf(CBBQ-60)

Description

TwinHeadGrateBrush

In-LineGriddle
Vinyl Cover,30"
Vinyl Cover,60"
Steamer Support (FullSize)

*NOTSHOWN

Cylinder

Cylinder

Cylinder

53
51

52

49

49

56

56 48

50



BAKERS
PRIDE

Page 4 of 4 4/05Note: Whenordering,ALWAYSspecifyPart#,Model#,Serial#, Voltage/Phase&typeofGas.

57

82

PressureRegulator,3.5"WC,Nat.

81

62

Nipple, 3/8 x 3 1/2(LP only)
Coupling, 3/4(Naturalonly)
Nipple, 3/4 x 3 (Natural only)

ReducingElbow,3/4x 3/8 (Naturalonly)

58

74

30PineStreet•NewRochelle•NewYork•10801

914/576-0200
914/576-0605

1 -800 -431 -2745
www.bakerspride.com

fax
US&Canada
webaddress

Carry-overTube,Right

RunnerTube Bracket

Screw, 1/4-20 x 1/2

RunnerTube Cover

Screw, 10-32 x 3/8

Adapter,1/8NPT

63

80

Item Part # Description Item Part# Description

PilotTube

Water Pan

Manifold, Burner, Valve,Orifice,PilotTube

78

83

R3195A
Q1459A
Q2027A
N3079A
N5855P
G6014K
G6012K
G6011K
M1184A

N5818A
N3019A
N5218A

N3091A

77

64

72
73
74
75
76
77
78
79
80
81
82
83
84

65

67
69

66

61

ManifoldAssy,Right(CBBQ30Natonly)

71

76

CBBQ-30S/60S
Outdoor Gas CharBroiler

ManifoldAssy,Right(CBBQ30/60 LP)

ManifoldAssy,(CBBQ60Nat.only)
ManifoldAssy,Left(CBBQ60LP)

59
60

Elbow,3/8"(Prior to6/03Only)

Knob, Gas Valve, ON-OFF

Orifice#44,Nat.(Burner)

Orifice#53L.P.(Burner)
Orifice#60,Nat.(Pilot)

Orifice,#74L.P.(Pilot)

79

GasValve (noknob)
Carry-overTube,Left

70 73

75

68

72

Plug,1/8"

HoseAssy

BurnerL5103A
R3032X
S1094A
N3023A
N3081A
R3196A
R1135P
R1136P
R1140P
R3130A
R3199P
R3197P
R3198P
R1141P

R3194A

Figure C

57
58
59
60
61
62
63
64
65
66
67
68
69
70

71

Figure C Manifold, Burner, Valve, Orifice, Pilot Tube

84


